FHIATE

St FARBI— 0 — B >

3 1 3R HEEEE = 2 (O - (RESBY)

ACK ey it -
EEEREX2.600mm

JA‘ K 40 TR AR — L= R (B A40)

2650 = BRI D MW (T 3>) .
1450 /=

] ]

805

00w
5 28 x 310m (M6 » 7H) 3K 0 | 5 x 28m x 400m (M6 5 7"4#)3&;0
ﬁﬁ%ﬁﬁ%@ﬁ%m%)‘
= .

9.0A(50H2)/8.5A(60HZ) . 4 6A(50Hz)/ 3.9A(60

2.2W(B%7) L . iwesm
2,650m xG50mm X 1,160m | 2, 65,mm><1.040mmx1 ISOm
1000 vk‘ ... zoakg

‘ -

B PR ()

P-.305 9 @ *E*rAERMERRs

FRXDEREBRIA T3V T

380mm x 900mm
798mm X% 2,020mm
912mm
330mm X 2,020mm

5,200rpm (60Hz)
4,300rpm (50Hz)

2.2~ 22m//min
r1305mm
550kgw
2.2KW

BEMNE®

-HhABAEYRNEBRE 1R
- FHERBENRIL 147
“ 1B 1=

15




